PNEUMATISKA MANOVERDON
DA/SR 052 - 230, 0-90°

|\

R)
Q
__.H ol
|8K|
Tl u l
Made In Italy ‘( )’ ‘( }
vallis=El
7
15 = °
12|12
N4 M5
A
=L C
= = N°4-8 M5
U
i
n |
s |l f % E 1]
n
= o & ?
| [ 1 [
oV
_M6x12
Dimensioner
Benamning 1SO5211 CH A B C D E F G H @l0K LM N O
DA/SR052 FO3/05 11 141 71 30 41 82 20 102 10 21 12 80 30 12 27
DA/SR063 FO5/07 14 164 81 36 45 93 20 113 11 25 15 80 30 16 28
DA/SRO75 FO5/07 17 210 95 42 53 111 20 131 13 29 19 80 30 19 35
DA/SR085 FO5/07 17 241 106 48 59 125 20 145 15 35 22 80 30 19 42
DA/SR100 FO7/10 17 275 123 55 68 138 20 158 15 35 22 80 30 21 50
DA/SR115 FO7/10 22 333 137 64 73 162 30 192 22 49 32 80/130 30 24 50
DA/SR125 FO7/10 22 372 148 68 80 174 30 204 22 49 32 80/130 30 24 61
DA/SR140 F10/12 27 435 164 77 88 197 30 227 24 49 35 80/130 30 29 71
DA/SR160 F10/12 27 500 186 87 99 221 30 251 30 57 40 80/130 30 32 80
DA/SR180 F10/14 36 493 213 98 115 253 30 283 36 62 45 80/130 30 43 99
DA/SR200 F14 36 579 217 108 109 278 30 308 36 67 50 80/130 30 37 78
DA/SR230 F16 45 690 249 124 125 325 30 355 36 67 50 80/130 30 50 92

B~

ety |

O

y

ararine

o

P Q R S
50 36 Mb5x7,5 M6x9
70 50 M6x8 M8x12
70 50 M6x8 M8x12
70 50 M6x8 M8x12

102 70 M8x8 M10x14
102 70 M8x12 M10x15
102 70 M8x12 M10x15
125 102 M10x15 M12x18
125 102 M10x14 M12x17
140 102 M10x15 M16x25
140 - - M16x24
165 - - M20x29

T UQV

1/8"
1/8"
1/8"
1/8"
1/4"
1/4"
1/4"
1/4"
1/4"
1/4"
1/4"
1/4"

35
35
42
42
42
64
64
64
81
81
81
81

22
22
29
29
29
44
44
44
60
60
60
60

Kompauto Nordic -

010-130 10 00

- info@kompauto.com

- www.kompauto.com



